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QUESTION 1

Which icons are a standard representation for an actor? (Choose three) 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

F. Option F 

Correct Answer: ADF 

 

QUESTION 2

What does the arrow end of a dependency relationship indicate? 

A. more general classifier 

B. element initiates communication 

C. whole in a whole-part relationship 

D. client element is affected by a change in the supplier element 

E. supplier element is unaffected by a change in the client element 

Correct Answer: E 

 

QUESTION 3
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A property is a feature that can be represented in what ways? (Choose two) 

A. as an association 

B. as an association end 

C. as an attribute in a class 

D. as an operation in a class 

E. as an indication of whether the feature is public or private 

Correct Answer: BC 

 

QUESTION 4

If a well-defined activity has a parameter node with an incoming arrow and also contains a final node, which of these will
always have values when the activity finishes? 

A. both 

B. final node 

C. one or both 

D. exactly one 

E. parameter node 

Correct Answer: E 

 

QUESTION 5

Which statement most accurately describes the UML concept of actors? 

A. Users may be actors. 

B. External systems may be actors. 

C. Users or external systems may be actors. 

D. Users, external systems, or sensors may be actors. 

E. Users, external systems, or internal databases may be actors. 

F. Users, external systems, internal databases, or sensors may be actors. 

Correct Answer: D 

Latest OMG-OCUP-100
Dumps

OMG-OCUP-100 Study
Guide

OMG-OCUP-100 Exam
Questions

Powered by TCPDF (www.tcpdf.org)

Latest OMG-OCUP-100 Dumps | OMG-OCUP-100 Study Guide | OMG-OCUP-100 Exam Questions                               3 / 3

https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
https://www.pass4itsure.com/omg-ocup-100.html
http://www.tcpdf.org

